beta

16

parity

10 25



3.1
3.2
3.3

[}

5.1
5.2

=1
=

Parity
V-A

mott scattering

Dirac e

mott scattering L 0. L oL oL Lo

Setup

Fnergy Caliblation . . . . . .. . ... ... ... ...

mott scattering

11

m

xvil
L xvil
Joviil
xxil
xxxil
xxxil

xxxil

wxxiil

ROV



1 Parity

(t,r,y. 2) = (¢, —x, —y, —2) Parity
Parity 3 o= pe U
e ; Parity Lorentz
. Lorent= o . Parity
. Parity
(Parity
. spin(=helicity)
Jelicity (= )
Parity helicity
Parity helicity
. 0 Parity " 7
Parity { \ Parity
).
helicity = 0 = Parity

ii



Parity V-A
Ju  current
Gt
Ling = —EJ“TJH (2.1)
(dFermi )
du  vector Y4y axial vector a5y
3 = T + Aty (2.2)
Spinor ¥ P i = A% — yYn° vector,
2 axial vector pector ® arrialvector P
=10 \ Parity = —1 V-A
charged current j, lepton hadron
jﬂ — jﬁ!ﬂjﬂ.nﬂ] + j;fjhﬂrfr'nﬂ] (23)
| 3 ,""- A j};!ﬂjﬂ.nﬂ 1 j;fjhmf rem )
..?';E!mmn) = Er_"f iy — ;p_":‘u "J'El_a"«‘ra (2.4;1}
j{EJ'mrfr'nn) — aﬂ,} I 1.‘.;,“ _ EF,‘JJJ ,‘J,E 1.‘.;,“ (2 -”..'l}l
:1.1'.*'(':: 1"}1 field .
3 helicity V-A

. _ 5 1 . 5
Mn = pe 7)) oo Tey™ (1 — g - ey Ty (1 — 7 Jitn
T (1Pl @5)
M. weak boson M, o~ B0 GeV
) energy order (m, —m, ~1 MeV) g — M2

|M|* o T [ttt (1 =~ Justiry” (1 — 7))
xTr [“FEF"I}J (1 — +*Yuan T e (1 — "1'5)]
— LTni-' H-Tﬂy (Qﬁ)

iii



BT = Tr [udtier™ (1 — 2™ )usTigy” (1 — )] (2.7a)

HTJW =Tr [Uﬂﬁﬂ"fn (1 — 4"y (1 — "I'E)] (2.Th)
spin electron Jeutron Jproton,anti-
nentrino

>t (S B )Tin (50, ) =t + 100 = (5" +1) (28)
Zup(sp,ﬁp)ﬁp(sp,ﬁp) =pip + My, R 111_,,('3":' +1) (2.8b)
fp
2 Jnentron
my, ~ 1GeV \ energy order Jproton
2
Z Z AT oo Tr[(77 4 D1 =47 (7" + D(1 —27)]
8n  8p
o Eﬂﬂnﬂtli-' — G (29)
\ Lsz.-
nentrino spin
Zuﬁ (S!T':.ﬁ7)f"’!7 (Sﬁ:.ﬁ7) =.ﬁ!’-’ + mg =ﬁ:’f (Elﬂ)
1 -
electron  spin ,M o electron
(0,€) vector s electron € spin
( £/ P s helicity)
DN 1+s59° ¢ N
%(Sn:pn)un(sn:pﬂj = TJ Z%(Snr: pﬂ)un(snr: pr‘)
At
1 -3
= #(ﬁr + ) (2.11)

> AT o T [ (1 e+ m(L 45”17
= Tr [;ﬁp";‘" Iin"fy(l - "1'5)2]
+sTr [ﬁﬁ":‘“ e A1 —A"

I
5

)]
+smTr [ﬁﬁ"fu 7 (1l —~ ?

) ] (2.12)
Tr 2 Trf# ¥ TP o PP i,

((29) T v

iv



) (e —sm &)
S AT o Telpen (e — sm ']

= 4 [Qp:;(ﬂi —smet) — g™ ph (Pe, — smcﬂ)] (2.13)

LD D

Anafp.SE

oo [2 Clplt — sme) — "l (prp — snmp)] (2g0. 900 — Guer)
o Ap2(p) — sme™) — ng(p,.ﬂ — sme,) — 2pf (Pe, — sme,) + 4pt (Pe, — sme,)

x p2(p — sme™) (2.14)
& spin s, , Pe electron Nel(se.pe)
Ne(8es P ) ¢ |.-"._!|2 o (p? — sme®) (2.15)
Jelicity E= T
Iprl e
= 216
= A prl (2.16)
helicity s, Pe electron
Ne(5erpe) o 21— 5.6) (2.17)
A= f-"

r*lr*rl,ron helicity

No(+,8) — No(—B8) _ (1—8)—(1+7)
N+ A +NA—F) (I—@+(+78)

-8 (2.18)

V-A Parity



3 mott scattering

mott scattering asymmetry
3.1 Dirac
Dirac
. er'.f.'r'
() = ™= + . fle.a) (3.1)
=
w1,
k
e )
0 £, ) (3.2)
Dirac 4
. E,r'.l'.'r'
(7)) = ae™ + —a(0,0)  (i=1,2.3,4) (3.3)

r

do EL. |ees (8, o0)|*

- E.:=| |z (8, )7 (3.4)

a;  Dirac

m, p, F

oo ( _.?'_. ) (3.5)
T

g Panli Matrix

01 0 —i 10
le(l ﬂ)’gﬂz(i 0 )’@:(ﬂ —1) (3.6)

vi




=
2=

7 (Pauli Matrixt

. c‘%ms(%)
A _( c'?!siﬂ(%) )

a;
0,py =0.p. =p (3.5)

g

aj

f— p f—
F4+m

1y

az

E _ E?=I |u5(ﬂ='§'ﬁ)|2
A YT a6, )|

z
(B)
. ikz ikr
yn ~ e+ CT flB,d), o~ CT a0, ) (A)
ikr ) c:r'."rz
U~ ——ga(f.6), Ua~ et —fo(0.6) (B)

(A).(B) X
1 0
0 /'\1
i (ﬂ ";ﬁ) = .III-E(EL ";ﬁ) = .III-(IE]}|

gl ) = g(ﬂ)cr'r.u

g2(0. ) = —g(0)e

3.2

vii

3.1

(3.7)

(3.8)

(3.9)

(A)

(3.10)

(3.11)

(3.12)

(3.13)

(3.14)

(3.15)



3.1: spin

3.1

Dirac

U =apf" + agy™

—ih

a =e ms(g), g = c"‘"sin(%)

w=(3)=(2)

¥ apay iy
p=Ta = :
( aza} agak+

I e + |agl*

I=irp
P, (3.16)
|ar|* — |az|*
R
T
PP, (3.10)

e L1 11
RV E T Rl R

V= = {(@+ ) 0 — )0

viii

(3.16)

(3.17)

(3.18)

(3.19)

(3.20)

(3.21)

(3.22)

(3.23)



S

(las + as* —Jay —as])

Pauli Matrix o;

P, P2

2r
2Re(ajal)
I
2Im{aazai)
F, = — 7
p_ oo
trp
£ _ la+PB.5)
—_ — —_ - (T
trp 2
¥ = at +as
¥ = eyt —ajy

P (3.20).(3.26),(3.27)

(3.10),(3.11)

by

(2
trp

. Pz
# =P+ papa
= .“,?‘I{_?=P|=p;‘i
trp
L4+ pB.5)
= —_ =T
2
' = ST
2 2

(L))

—qe

) -+

ix

(3.24)

(3.25)

(3.26)

(3.27)

(3.28)
(3.29)

(3.30)

(3.31)

(3.32)

-q]-.l'

(3.33)

(3.34)

(3.35)



foo—gemi
5= ) 3.36
() o0

j’f
.ﬁ" — 'II-"\II’*
1 .
= ;501+P- #)Sttrp (3.37)
' = irg (3.38)
e T 1 L
= ) (x )
~B(= v/
der 1 _ §
E = 51“.-1' S(l — ,30'2).5'
= 1P+l (3.40)
f.ga 8
asvietrv(¢h 2w — o) (3.30) P=0
d_ﬂ = 5.“,? S(l — IjCT_q-}S
= |fI*+19)* — 28Tm(fg" )sing (3.41)
Im(fg*) =0 asymetry(A )
setup ¢ = 00, 270°(R,L )
R—1L —23Tm(fqg%)
A= = mlgd 3.42
S ATV o4
3.3 mott scattering
mott scattering S0, g
—Zefr Dirac

a=Zefhe,q=a/3

Ef(0) = —iy/1—0GgF+G (3.43)
k() = {iv1—-0(14+cosf)F 4 (1 —cosf)G}/sinf  (3.44)



Fo(6) = ;E +:§§ exp [iqInsin?(6,/2)] (3.46)
Fy(f) = %Z [0y, + (1 4 1)Dyay] (—1)" Py (cos 0) (3.47)
n=0
Go(f) = —ig [cot®(0/2)] Fy (3.49)
Ch(0) — %Z [02D, — (n+ 12 Dpas] (—1)" Pa(cosf)  (3.50)
n=0
T.P,
_ '™ T(n—iq) e T(p, —iq) 5
Dn = n+igl(n+iq)  pn +iqT(pn +iq) (3:51)
o = /(n?—a?) (3.52)
F.G (3.41) do(f)/d =
|f1* + lal”
o , der ; . 1 E
r_i_ﬂm: ) = Li_ﬂ(ﬂ}(l + 35[0 sin(a) (3.53)
S@) — mwm)mm LR OGO) (3.5
(3.42)  asymetry(A)

A = [AS(0) (3.55)

S@)  do(8)/do (3.2) (3.3)

xi



barn

10

10

10

C D 1000000
- ENTRIES 13
0 + 0.00 13.0 0.00
L 0.00 0.00 0.00
0.00 0.00 0.00
L % +
i +
4 o X +
o ¥ + 4
P © ¥ +
. e X + 4
L % o ¥ « + + 4
i X O X
o X%y
3 X O X %
- X 0 o
r X ¢)
L X O O
- >< O
L X %
X
3 X%
1 1 ‘ 1 1 ‘ 1 1 ‘ 1 1 | 1 1 ‘ 1 1 ‘ 1 1
40 60 80 100 120 140 160 180
degree
3.2: do(@)/d0r @



1D 1000000
| ENTRIES 13
0.00 0.00 0.00
L 0.00 13.0 0.00
% 0.00 0.00 0.00
L . O
- g L X
i X ¥
r = X + O
2 X
L . + X
L & % ; x O
O
L Q ™ X
J ‘ 1 L J L 1 | L 1 1 ‘ 1 L 1 J L 1
40 60 80 100 120 140 160 180
degree
3.3: 500 @

xiii



4 Setup

eleﬁie

-HV
é - Detector (R)
source electrons
4.1:
3 Cs!™ Source
25pm Mottt
PMT 4.2
19.1cm 2009cm 2
3 Mazxwell
4.3
1lem
4.4 lmm
PMT 4.4

PMT

xiv



Deflector
Plates

Grounded
Shiled

Grounded Shield

B
AN

™~ Light Guide

4.3:

4.2: Setup

XV

f
/
¥ B
,,_._/'“)D

PMT

e Source




PMT Mott

PMT ooincidence

plastic sinti.
PMT

AR B

LG
target(Au)
Z} f
electrons
y @
4.4:

[>> discriminater

D coincidence

PMT(R3

1.5: DAQ



0kV

xvii

5.1
19KV
PMT 5.1
source
O
| 20cm
| ]
y
Lead
15cm
= [ PMT
1.8cm / o
plastic scinti.
5.1:
4.1 19,22 38kV




s 8
[l ]
o 1o
(@) — O
© |©
a 1o
j@) — O
< 1
@] lTo
S —o
~N RS

;;;;;;;;,._,O N I T I O O I MY AN (Y
0O QO C 0O QO 000000 cC OO0 000 0000
v QO u O v O W O W w3 v O W o O v O
< MmN e | < S MM NN = =
Junoo Wunoo

Q
Q
£
15 i
lTo lTo
— O — O
@ |©
EESSSESS
RIS | 7
PERXELERS 4
PSS o o
S —Ho
< 1
B s
=] BRI =
s} SEREEE 1 ©
o~ [a\)
% i
& .

T I I B o ;;;;;;;;,r_,o
O O O O O O o o o O O c O O O O O o o o o O
D O W o Wwo W o m 0 D O n o mow o n Irs)
+ F MM NN = 2 | A s I B N NI I
junoo Junoo

ADC

ch

)

28,22,19,0kV
xviil

ADC

400ch

5.2 Energy Caliblation



cosmic ray

plastic scinti. pmt

Light Guide
\ pmt
—
pmt |plastic scinti. plastic scinti
5.3:
200keV
ADC
gaussian  fitting galssian ADC
200keV lmm
0.68+0.03 keV /ch
fitting
28kV 22848keV
22kV 19520keV
L9V 174+10keV
5.5
setup HYV on off Eain

xix



1000

O M N
[N O RPN 5
S W0
R oo© ¥
N o=
()
O
[s0)
w
2 c
Peliie} %
o
= =
2uU=x
(=]
(@]
w0
(=]
O
=
o
(@}
[XX o~
XTSI TIIRITINLS,
R T RS EREEIEE
B S
B R S I SIIIILRES
e O O IS
K S S S LKL
| | | o
(@] (@] O O O O O
(@] (@] (@] (@] (@] (@]
W [fe} < M o™ —

Junoo

ch

vec 1000

ADC

(

XX



300

250

200

150

100

50

[

[Apr—}

i)
"uso.dat” +--+--

[E—

5 10 15 20

xxi

25

30 35

(kV)

40



6 mott scattering

6.1 mott scattering
detector Jem lmm
target 2 2.5 foil
holder PMT
PMT coincidence 6.2
X

eleiode target (Au) Q Dectector (L)

> f'/"/) VA
S Je

—HV
; %
é L Detector (R)
source electrons
G.1:
& mott
* target
. target holder
»
maott
PMT on target

wxil



[> discriminater

PMTQRI}—Amp——1>—7 |

D coincidence

PMT(R2}—Ampt’]

OR — Gate

PMT(R3 Amp

T T

T

PMT(R4 Amp

i

AD

PC

G.2:

target holder

target holder

target  foil holder
6.3 6.6
s | D=71/2(1ch.2ch) D=3 11,/2(3ch.dch)
e 2 target 3chdeh
(d=31T/2 D=71/2) asymetry
s target target
e detector

2 3ch,dch target
target
detector target holder

asvmetlry

xxiil



s

$O
B

s

5

e TR

1000

2000
ch

1200

500

o]

e TS XX

500

o
< O
O ©

JUNoo

200

(=] [w) <
w0 ~ ol

JUNoo

[} (@} o [e]

K
s

o X
T
RN
P 0702000000
Stetetotetetetst
et ZIRRRE,

1000 1500 2000

500

500

Junoo

O
(@]
et

j)
o
o~

O

JuUNoo

2000
ch

500

1

1000

1500 2000

1000

1000

o o =)
o o o
© <+ ~
JUN0D

2000

500

500

D=71,2

Ich

6.3

* 1MOLL

& 1MoLl

o1

holder

e target

on

holder

e tarcet

off

holder

e target

xxiv



2ch

o)
o
o C
o O
o
qo ]
0
o
4O _
&)
£ O
I ©
S st
RIS
SR HAS]
ST
TR
[N R SRV P [ N B
@) o o} @] @) o o o
S S S S S S
5 ~ ~ © <+ ~
Junoo o JUNoo
o
o <
o~ O
o
qo -
IS}
o
{o A
S
@)
&) 12
£ O £
C
TS s
‘w:ofetetetete etetetelets SEE 8% Yeleletetele!
IR I P Lol
o o =} o =) =) o o
o o o o o o
[ < & © < ~
Junoo Junoon

500

2000
ch

500

1

1000

1000 1500 2000

500

500

2

B0

o ITCLRRKS

T Ssitutetetatetetede!

RIS I A

o o [=) o
o o o
© <+ ~

JUN0D

2000

500

1000

D=71,2

: 2ch

6.4

* 1MOLL

& 1MoLl

o1

holder

e target

on

holder

e tarcet

off

holder

e target

XXV



3ch

2000
ch

@
[
10
©
©
. o
o
i
TR
s
OO 0002029 %92
RIS
T RIHEERRHLARKI K
[N BRI BRI oY
o] o] o (e}
o o <
© < o~
Junoo o
©
[
o~
o
[
0
O
qo
O
%
29
£
£ O
= O
28 D
Pevtetete%
LKL
SR GKARLKS
BEERRRRRRRS
M030sesoces0tetes
RIS
[ EES ENEVIE O
o o o o
o ] [}
© < ~

Junoo

500

500

[N N AR
o) o o @]
& S o

w ~ o~
JUNoo

o o o o
o S o

© ~+ ~
JuNoo

2000
ch

1500

1000

1500 2000

1000

o
v o0teYelele!

O
@]
w

JUN0D

(@]
[}
e

(@]
(@}
™

2000

1500

1000

500

D=3 11/2

: 3ch

6.5

& moll

* 1MOLL

o1

holder

e target

on

holder

e tarcet

off

holder

e target

mott

xxvi



4ch

) o
) IS
o C (-
o (o] o (o]
) )
] o
Y ul
(&} (e}
S s
(e} (o]
% 3
£ i
£ 3 £ S
S o
SRR
BTN,
e e ta s teto totetetets
o SESIGEIEERS
[N BRI BRI oY [ A BRI 2N
o o o o o o o o
(@] (@] = (@] [} (@]
w0 <t o~ w ~ [N
unoo o Unoo o
o [}
o O O
o~ O o O
) )
Jo Jo ]
fe} fel
o )
S do R
3 IS)
[en} (o]
5 E
%% e
B Tetetetetetels ! K]
TR A TSRS SRR
PORRUEIIEIR e RETXELEIKKL: FRGRUEHLS
= 000696 % %% R BRI
I P T P Lol il
O (@] = O [} O O [} () [an} [} (e}
SRS T 5 5 ° 5 o 5
& I & I RN R SN
Junos JUNoD unas

2000

1500

1000

500

D=3 11,2

: dch

6.6

* 1MOLL

& 1MoLl

on

holder

e target

on

holder

e tarcet

off

holder

e target

3ch

xxvil



d=11/2(1ch,2ch) detector
19KV, 16KV, 13KV, 10kV

19KV 16kV

19KV 1ch 3710 %= 137

19KV 2ch 3772 == 140

16KV 1ch 2538 %= 132

16KV 2ch 2650 == 136

gaussian fitting
s 10kV lch 158 % 2 count
e 19V 2ch 225 =+ 2 count
s 16KV 1ch 132 % 3 count
e 16KV 2ch 175 == 5 count

fitting

target mott scattering

target holder

target

19KV

wxviii

6.9

ADC count

detector

detector
15000



count

count

800
700
600
500
400
300
200
100

O T T T T T T

500

1000

L 0
1500

count

O [T T T T

19V

16k

13V

10KV

(5.7: 1ch

xxix

O [rrrTTTTT
w X
O B
) .

2000

O [ T T

500

qD—-TIfE

2000
ch




count

count

800
700
600
500
400
300
200
100

O T T T T T T

1000

1500

O [ P

L

count

O [T T T T

19V

16k

13V

10KV

500

1000

1500

O [ T T

2000

6.8: Ich D=11/2

XXX




0450
2400
‘=350
D300
250
200
150
100
50

TTTTTTT

\
1000 1500

adc count
19kV-1ch

nnnnnnn

\
500

B350

~E-3oo

250
200 |
150 I
100
50

\
1000 1500

adc count
16kV-1ch

\
500

65.9:

19kV-1ch

19kV-2ch

16kV-1ch

16kV-2ch

350 [
300
250
200
150
100
50
0 \
500 1000 1500
adc count
19kV-2ch
0 | ) |
500 1000 1500
adc count
16kV-2ch
CD—T[;'IE

N



7.1

parity
19kV

7.2

target holder
program

target

asymetry

V-A parity
null asymetry

detector

V-A

asymetry

PMT

target holder

xxxii



7.3

asymmetry A AA
asymmetry N
! ;_"1_ (7.2)
AA 1 1 1
_— = — -t l ~ I ——1 —.3
2\ (1 ) \| Na2s(0)? (74)
() 1/4%=1 N da(f)/d0
(der()/d02) S3(0) il
0
110
il
110 setup

wxiii



barn

[ + - + D 1000000
i + _ENTRIES 13
0.00 030 0.00
F 000 230 0.00
L + 000 T 0.00 0.00
¥ X ox
I XK X +
i + X ¥
O
¥ o O O o X o+
10% o o
I O o X
r X
L O X o +
X X
X X x
10
- O e
r X
| 1 L J L L 1 J 1 1 L \ 1 L | 1 1 J L L 1 \ 1 1 L
40 60 80 100 120 140 160 180
(1.0e24*c) VS. n degree

7.1z (de(0)/dQ) S3 (@) 0

wxxiv



Thomas

.-lr. + 1
e m: g: Lande g 5= = b= —
o W1—32
els T 1 i i F
— = —3 — — v
i me T+l
e 1 -
— _ { E 5 “1.2
(mc ";'+1':3>< ) a (42)
4 1
e (‘\.2)
s e 1 R L.
EZE-'}-+1-3E:XS=MHXS (A.3)
o=
(A3 @
e3F
W = || = —— A4
“ =l me(y+ 1) (A48
i) o F -
= ("ﬁm:,.‘:]) = —eFk (A.5)
(a4
{ _
E—u (vme") = —eE-i  (A6)
(4
1 J. D Jackson ()

XXXV



(A.6) 0

d = — = —cF = =
—a = FE = ixf = g A.
r_H,'J e ~me3 x B B x (A7)
(:'\..T) z
ek
o= || = A8
“ ] ~me3 (48)
a0 { ) T
wyme3
= A.
2cF (4.9)
fl
., = weT
_ e3E wymef3
- me(y+1)  2eE
_ V5 g _ 0 (""‘1)("_1) T
v+l 2 Al 2 2
_ ( ﬁnc-—mc-) w (A.10)
~mc?
150kev,200key g,
25.3

v



